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3x-5=x-1 > 3x=x+4 > 2x=4 - x=2
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@ -4x+9=9-4x

@® 3x-2=5x+38

® 2x2 -7

@ x®+5x+6=x2+1

x(2x-3)

® x(2+x)=2(x+1)
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@® 4x-(2x+3)=2x+3 @ 5+4=1
® 6x+3=32x+1) @ 6-2=x-2

B 2x—=3x = —x
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@ (7300 + 120)x = (3400 + 250)x
@ 7300 + 3400 = 2x

® 7300 + 120x = 3400 + 250x

@ 7300 4 120 = 3400 + 250x

3 7300 x 120x = 3400 % 250x
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D x+4=4+x-9 @ 4x+9 =4x

® 10x+4=4x-9 @ 10x4+4=40+x-9
® 10x+4 =40+ x+9
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@® 4x+2=-2(-2x-1)
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B x:5=6x:1



20.

o] 2ol 547t 491 F Aele] Aa57t Qe o] a5 4
Al 9] SAtoh A Apelo] A4S vHE AL 4G 0] 29t
40F A A AA5 A9 A A 2t T ), B} F

$e 327

@® 24+x)=x+4+4 @ 2(40+ x) = 10x + 4 + 4
® 8x=x+4+4 @ 2(40+x) +4=10x+4

B 4x+4=10x+4
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@ 4x-12=5x+3 @ 4x+12=5x-3

® —4x-12=-5x-3 @ —4x+12=-5x-3

B —4x+12=5x-3
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@ 12x-18 = 21x @ 12x+ 18 = 21x
® x+2x=18 @ 10x+x=20x+ x

® 10x + 20x = 18
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D 3x-8=4x+54 @ -3x—-8=4x+54
® 3x+8=4x+54 @ 3x+8=4x-54

® —3x+8=—-4x—-54
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® 3(x-1)-3x
@ 5x="Tx-2x
® 44+5<2+x
5x-5 3x-3
® 3 5
® 2(4x+3) =18 + 4(2x - 3)
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@ 4000 + 1000x = 10000 + 500x
@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x
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@ 0.08x + 0.03(480 — x) = 0.07 x 480

@ 0.08x + 0.03(465 — x) = 7

® 0.08x + 0.03(465 — x) + 15 = 0.07 x 480
@ 0.08(465 — x) + 0.03x = 0.07 x 480

B 008 +x+003+465-x=7
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